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Code No.
dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

• Please check that this question paper contains 7 printed pages + 2 Maps.

• Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

• Please check that this question paper contains 27 questions.

• Please write down the serial number of the question before attempting it.

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 7 + 2 ekufp=k gSaA

• iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 27 iz'u gSaA

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

SOCIAL SCIENCE
lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku

Time allowed : 3 Hours Maximum Marks : 100

fu/kkZfjr le; : 3 ?k.Vs vf/kdre vad :  100

General Instructions :

1. Answers to questions carrying 2 marks should not exceed 30 words each.

2. Answers to questions carrying 4 marks should not exceed 60-80 words each.

3. Answers to questions carrying 6 marks should not exceed 100-125 words each.

4. Maps should be securely tied in the middle of the Answer-Book.

5. Attempt all parts of a question together.

6. Stencils or templeates for drawing outline maps may be used wherever necessary.

lkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'k :

1. 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u gksA

2. 4 vadksa okys izR;sd iz'u dk mÙkj 60 ls 80 'kCnksa ls vf/kd u gksA

3. 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls vf/kd u gksA

4. ekufp=kksa dks mÙkj&iqfLrdk ds chp esa etcwrh ls ckaf/k,A

5. fdlh iz'u ds lHkh Hkkxksa ds mÙkj lkFk&lkFk nhft,A

6. tgk¡ dgha vko';d gks LVSaflyksa vFkok lakpksa dks js[kk&ekufp=k cukus ds fy, bLrseky fd;k

tk ldrk gSA
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1. Distinguish between tangible heritage and intangible heritage. 2

ewrZ fojklr vkSj vewrZ fojklr esa vUrj crkb,A

2. Mention the significance of our heritage of the colonial period. 2×1=2

vkSifuosf'kd dky dh gekjh fojklr dk egÙo crkb,A

3. Write four advantages of pipeline transportation. 4×½=2

ikbiykbu ifjogu ds pkj ykHk fyf[k,A

4. State four main features of intensive farming. 4×½=2

xgu Ñf"k dh pkj eq[; fo'ks"krk,¡ crkb,A

5. Why is a dense network of railway transport found in North Indian Plains ? Explain two
reasons. 2×1=2

mÙkj Hkkjr ds eSnkuksa esa jsy ifjogu dk l?ku tky D;ksa ik;k tkrk gS \ nks dkj.kksa dks Li"V

dhft,A

6. Which are the two most important food crops of India ? Name the major producing state
of each crop. 1+1=2

Hkkjr dh nks lcls egÙoiw.kZ [kk| Qlysa dkSulh gSa \ izR;sd Qly ds izeq[k mRiknd jkT; dk

uke crkb,A

7. Why is animal husbandry very important for Indian farmers ? Explain two points in this
regard. 2×1=2

Hkkjrh; fdlkuksa ds fy, i'kqikyu cgqr egÙoiw.kZ D;ksa gSa \ bl lanHkZ esa nks fcanqvksa dh O;k[;k

dhft,A

8. Study the table given below and answer the questions that follow : 1+1=2

National Highway No. Length (in km) Terminal Stations

2 1465 Delhi — Kolkata

5 1533 Chennai — Jharpokhria (Orissa)

7 2369 Varanasi — Kanyakumari

15 1526 Pathankot — Samakhiali (Kuchchh)

(8.1) Which is the longest National Highway ? What is the general direction of this
National Highway ?

(8.2) Name the terminal stations of National Highway No. 5. How far is Kolkata from
Delhi by road route ?
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uhps nh xbZ lkj.kh dk v/;;u dhft, vkSj mlds uhps fn, x, iz'uksa ds mÙkj nhft, %

jk"Vªh; egkekxZ la[;k yEckbZ ¼fd-eh- esa½ vfUre LVs'ku

2 1465 fnYyh — dksydkrk

5 1533 psébZ — >jiks[kfj;k ¼mM+hlk½

7 2369 okjk.klh — dU;kdqekjh

15 1526 iBkudksV — lek[;kyh ¼dPN½

(8.1) lcls yEck jk"Vªh; egkekxZ dkSulk gS \ bl jk"Vªh; egkekxZ dk fdl fn'kk esa foLrkj gS \

(8.2) jk"Vªh; egkekxZ la[;k 5 ds vfUre LVs'kuksa ds uke crkb,A lM+d ekxZ }kjk dksydkrk fnYyh

ls fdruk nwj gS \

9. Mention any two features of developed countries. 2×1=2

fodflr ns'kksa dh dksbZ nks fo'ks"krkvksa dk mYys[k dhft,A

10. What is meant by sustainable economic development ? Give its main feature. 2

/kkj.kh; vkfFkZd fodkl ls d;k vfHkizk; gS \ bldh eq[; fo'ks"krk crkb,A

11. Explain the main features of a socialist economy. 2

,d lektoknh vFkZO;oLFkk dh eq[; fo'ks"krk,¡ Li"V dhft,A

12. “Skill development can reduce pressure of unemployment on the Indian economy.” Justify

this statement with examples. 2

^^dkS'ky fodkl Hkkjrh; vFkZO;oLFkk ij csjkt+xkjh ds ncko dks de djus esa lgk;d gks ldrk

gSA** mi;qä mnkgj.k nsdj bl dFku dh iqf"V dhft,A

13. “Liberalisation and Globalization policy has had negative effects on the Indian economy.”

Explain briefly with two examples. 2

^^mnkjhdj.k vkSj oS'ohdj.k uhfr dk Hkkjrh; vFkZO;oLFkk ij udkjkRed izHkko iM+k gSA** nks mnkgj.kksa

lfgr la{ksi esa O;k[;k dhft,A

14. Explain  the importance of  Kos Minars and Qutub Minar as sources of  historical

information. 4

dksl ehukjksa vkSj dqrqc ehukj ds ,sfrgkfld lwpuk ds lzksrksa ds :i esa egÙo dh O;k[;k dhft,A

15. State any two important features each of the Western Ghats and Eastern Ghats of India.     4

OR

Describe  the   contribution  of Sant  Tukaram   and   Sant  Narsi   Mehta  in   the   Bhakti
Movement.
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Hkkjr ds if'peh ?kkV vkSj iwohZ ?kkV esa ls izR;sd dh dksbZ nks egÙoiw.kZ fo'ks"krk,¡ crkb,A

vFkokvFkokvFkokvFkokvFkok

lar rqdkjke vkSj lar ujlh esgrk ds Hkfä vkUnksyu esa ;ksxnku dk o.kZu dhft,A

16. Why is the scarcity of water increasing day-by-day in our country ? Give four reasons.
4×1=4

gekjs ns'k esa ty dk vHkko izfrfnu D;ksa c<+rk tk jgk gS \ pkj dkj.k nhft,A

17. Define “Brain Drain”. Mention two reasons for the brain drain from India. 4

^^izfrHkk iyk;u** dh ifjHkk"kk nhft,A Hkkjr ls izfrHkk iyk;u gksus ds nks dkj.kksa dk mYys[k

dhft,A

18. What is meant by enterprise ? Classify enterprises on the basis of ownership. 4

m|e ls D;k vfHkizk; gS \ LokfeRo ds vk/kkj ij m|eksa dks oxhZÑr dhft,A

19. Differentiate between Revolutionaries and Terrorists. 4

ØkfUrdkfj;ksa vkSj vkradokfn;ksa ds e/; vUrj Li"V dhft,A

20. Explain the role of Indian citizens in the protection and preservation of heritage of India.      6

Hkkjrh; fojklr ds laj{k.k vkSj lqj{kk esa Hkkjrh; ukxfjdksa dh Hkwfedk dh O;k[;k dhft,A

21. How does industrial pollution degrade the environment ? Explain three measures to
control environmental degradation. 3+3=6

vkS|ksfxd iznw"k.k i;kZoj.k dks fdl izdkj fuEuhÑr djrk gS \ i;kZoj.k ds fuEuhdj.k dks fu;af=kr

djus okys rhu mik;ksa dks Li"V dhft,A

22. What is the importance of water as a natural resource ? Describe any four methods of

conserving water. 2+4=6

izkÑfrd lalk/ku ds :i esa ty dk D;k egÙo gS \ ty laj{k.k dh fdUgha pkj fof/k;ksa dk

o.kZu dhft,A

23. What are non-conventional sources of energy ? Why do the non-conventional sources of
energy have a bright future ? Give four reasons. 2+4=6

OR
What are conventional sources of energy ? Why is water, as a source of energy, more
important than coal and petroleum ? Explain four points in this regard.

xSj&ijEijkxr ÅtkZ ds lk/ku D;k gSa \ xSj&ijEijkxr ÅtkZ ds lk/kuksa dk Hkfo"; mTToy D;ksa

gS \ pkj dkj.k nhft,A

vFkokvFkokvFkokvFkokvFkok

ijEijkxr ÅtkZ ds lk/ku D;k gSa \ ty] 'kfä ds lk/ku ds :i esa] dks;yk vkSj isVªksfy;e ls

vfèkd egÙoiw.kZ D;ksa gS \ bl lanHkZ esa pkj fcanqvksa dks Li"V dhft,A
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24. Explain the provisions made in the Indian Constitution for safeguarding the interests of

Other Backward Classes (OBC) and weaker sections of the society. 6

OR

What is meant by communalism ? Mention the causes for the growth of communalism in

India. Suggest two remedies to overcome this problem in India.

lekt ds det+ksj oxks± rFkk vU; fiNM+h tkfr;ksa ds fgrksa dks lqjf{kr j[kus ds fy;s Hkkjrh; lafo/kku

esa fd;s x;s izko/kkuksa dh O;k[;k dhft,A

vFkokvFkokvFkokvFkokvFkok

lkEiznkf;drk ls D;k vfHkizk; gS \ Hkkjr esa lkEiznkf;drk ds c<+us ds dkj.kksa dk mYys[k

dhft,A Hkkjr esa bl leL;k ij fu;U=k.k djus ds fy;s nks mik; lq>kb,A

25. Explain the problems of child abuse. Mention the provisions provided in the Constitution
of India for the protection and development of the child. 6

OR
What is meant by disabled person ? Explain the different types of disability. Write the
names of legislative measures enacted in India to take care of the disabled.

cky mRihM+u dh leL;kvksa dh O;k[;k dhft,A cPpksa dh lqj{kk vkSj fodkl ds fy;s Hkkjrh;

lafoèkku esa fufgr izko/kkuksa dk mYys[k dhft,A

vFkokvFkokvFkokvFkokvFkok

fodykax O;fä ls D;k vfHkizk; gS \ fofHké izdkj dh fodykaxrkvksa dh O;k[;k dhft,A Hkkjr

esa fodykaxksa ds fgrksa ls lEcfU/kr ykxw fd, x, fo/kk;h mik;ksa ds uke crkb,A

26. Explain the factors which have contributed towards gender inequality. State the
measures which have been taken to improve the social and economic status of women in

India. 6

ySafxd vlekurk dks c<+kok nsus okys dkjdksa dh O;k[;k dhft,A Hkkjr esa efgykvksa ds lkekftd

,oa vkfFkZd Lrj dks lq/kkjus ds fy, fd, x, mik;ksa dks crkb,A

27. (a) On the given outline political map of India (on page 9), locate and label the two

states having the following monuments : 2×1=2

(i) Kamakhya Temple

(ii) Tipu Sultan’s Palace

(b) In the given outline political map of  India (on page 11) are shown three
geographical features marked A, B, C. Identify these features and write their names

in the space provided. 3×1=3
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 (c) In the same given outline political map of India (on page 11), locate and label the
following features and attach the map in your answer book : 3×1=3

(i) Kochi Oil Refinery

(ii) Durgapur Iron and Steel Plant

(iii) Kandla Seaport

¼d½ fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 9½ ij mu nks jkT;ksa dks igpkudj muds uke

fyf[k, ftuesa fuEufyf[kr Lekjdsa fLFkr gSa %

(i) dkek[;k eafnj

(ii) Vhiw lqYrku dk egy

¼[k½ fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 11½ esa rhu HkkSxksfyd y{k.k d] [k] x

fn[kk, x, gSaA bu y{k.kksa dks igpkfu, rFkk fn, x, LFkkuksa ij muds uke fyf[k,A

¼x½ blh fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 11½ esa fuEufyf[kr y{k.kksa dh fLFkfr

fn[kkb, vkSj muds uke fyf[k, rFkk bl ekufp=k dks mÙkj&iqfLrdk esa layXu dhft, %

(i) dksfPp rsy ifj"dj.k'kkyk

(ii) nqxkZiqj yksgk vkSj bLikr la;a=k

(iii) dkaMyk leqnzh&iÙku

Note : The following question is for the Blind Candidates only in lieu of Q. No. 27 (a),

(b) and (c).

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 27 ¼d½] ¼[k½ vkSj ¼x½ ds

LFkku ij gSA

(a) Write the names of the two states in which the following monuments are situated : 2

(i) Kamakhya Temple

(ii) Tipu Sultan’s Palace

(b) (i) Name any one Software Technology Park, located in Andhra Pradesh.

(ii) Name the thermal power station of Madhya Pradesh, bordering Chhatisgarh.

(iii) Name any one international airport of Kerala.

(iv) Name the oil refinery located in the easternmost part of Assam.

(v) Write the name of any one iron and steel plant, located in West Bengal.

(vi) Name the major seaport of Gujarat. 6
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¼d½ nks jkT;ksa ds uke fyf[k, ftuesa fuEufyf[kr esa ls ,d&,d Lekjd fLFkr gS %

(i) dkek[;k eafnj

(ii) Vhiw lqYrku dk egy

¼[k½ (i) vka/kz izns'k esa fLFkr fdlh ,d lkW¶Vos;j izkS|ksfxdh ikdZ dk uke crkb,A

(ii) NÙkhlx<+ ds lhekorhZ rki 'kfä la;a=k dk uke crkb, tks e/; izns'k esa fLFkr gSA

(iii) dsjy ds fdlh ,d vUrjkZ"Vªh; ok;q&iÙku dk uke crkb,A

(iv) vle ds lcls iwohZ Hkkx esa fLFkr rsy ifj"dj.k'kkyk dk uke crkb,A

(v) if'pe caxky esa fLFkr fdlh ,d yksgk vkSj bLikr la;a=k dk uke crkb,A

(vi) xqtjkr ds izeq[k leqnzh&iÙku dk uke crkb,A
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